

# SATHKARAYA - 4



2<sup>nd</sup> Batch
Faculty of Health Sciences
CINEC Campus

#### Introduction

As a batch, we always had the idea of "Be the change" rather than talk about it, and to prove that we decided to commemorate our 3rd year anniversary with a mission to conduct a charity service to help out the deservers.

We, the students of the second batch of the faculty of Health sciences decided to strengthen the community by supporting the needy whenever possible and this time for the fourth phase of 'Sathkaraya' annual project we selected Viharamahadewi, a children development center in Biyagama, including 48 children and 10 staff members and joined hands with them after all required permissions and approvals were arranged.

As said, we visited the Children development center with the essentials we gathered from the donators. The day was well spent with a lot of fun and enjoyment including fun games and entertainment programs. At the end of the day, we didn't forget to provide gifts for the children.

All of this was done as young citizens we understood that we also have a duty and a responsibility to be a part of the process of making a better society by supporting the deservers at all times.

## **Public campaign**

After the necessary approvals were obtained from the Dean of the faculty, we shared a flier on the 13<sup>th</sup> of October, 2022 on the official Facebook page of the Faculty of Health sciences - CINEC Campus to reach out to the project to the community.

The same flier was shared on WhatsApp social platform as message forwards and one-day statuses for consecutive dates till 20<sup>th</sup> October 2022.

By this, we were able to reach out our project to the community and received favourable responses.

On the 25<sup>th</sup> of October, 2022 a thank you post addressing all the generous donors and contributors was shared on the above-mentioned social media platforms to show our gratitude for the support rendered by them.





#### **Event report**

To mark the 3rd year anniversary of our stay together as one family, we celebrated a party within the batch at campus premises on the 20<sup>th</sup> of October 2022.

As scheduled on the 22<sup>nd</sup> of October 2022, we arrived at the Viharamahadewi, children development center in Biyagama at about 2.30 pm and the event for the day was carried out from 3 pm to5 pm.

An entertainment program was organized by the students of our batch to the children, where some mini games were played with them and we presented them chocolates.

Refreshments were distributed to all those present including the children and the staff members of the center.

A gift pack, shoes/sandals and school/side bags were distributed to each child at the center bringing a smile to those faces and an appreciation souvenir was given to the staff.

We presented the center with necessary food supplies and also with medical and stationery essentials in order to satisfy the daily needs.

The day was more vibrant and complete with performances from the children and finally, the evening was celebrated with songs, music and dance and to see the happiness of the children filled our hearts as they enjoyed every one bit of it and thus the proceedings were concluded for the day.

## **List of Donors**

Name	Index Number	Amount	
Chamoda	IPS/2020-02-B/0007	2500/=	
Manushi	IPS/2020-02-B/0009	3500/=	
Malmi	IPS/2020-02-B/0011	5000/=	
Zakeer	IPS/2019-02-A/0002	7000/=	
Eranga	IPS/2019-02-A/0010	3000/=	
Amasha	IPS/2019-02-A/0004	3000/=	
Dewni	IPS/2020-02-B/0010	6000/=	
Nimni	BMS/2019-02-A/0003	5000/=	
Ninuri	BMS/2020-02-B/0002	1500/=	
Nethmi	IPS/2020-02-B/0003	3500/=	
Hiruni	IPS/2020-02-B/0005	5000/=	
Rishini	BMS/2020-02-B/0009	4000/=	
Demidu	BMS/2020-02-B/0003	2500/=	
Malshi	BMS/2019-02-A/0012	2500/=	
Anjana	IPS/2019-02-A/0008	2000/=	
Limalka	IPS/2020-02-B/0002	3000/=	
Anjana	BMS/2019-02-A/0007	2000/=	
Abhishek	BMS/2020-02-B/0016	5000/=	
Madurika	IPS/2019-02-A/0009	1500/=	
Nipuni	BMS/2019-02-A/0015	2500/=	
Shamindi	BMS/2020-02-B/0004	2000/=	
Kavindya	IPS/2019-02-A/0007	2000/=	
Warsha	IPS/2019-02-A/0006	10000/=	
Tharushi	IPS/2020-02-B/0012	2000/=	
Tharuni	IPS/2020-02-B/0006	2500/=	
Faadhil	IPS/2019-02-A/0001	5000/=	
Hansi	BMS/2020-02-B/0015	2000/=	
Charuni	BMS/2020-02-B/0010	2000/=	
Shamanga	BMS/2020-02-B/0014	2000/=	
Vijini	BMS/2019-02-A/0004	2000/=	
Mithunika	BMS/2020-02-B/0011	3000/=	
Warangana	BMS/2019-02-A/0005	2000/=	
Manuli	BMS/2020-02-B/0005	2000/=	
Saritha	BMS/2020-02-B/0008	1500/=	
Sajini	BMS/2020-02-B/0013	2000/=	
Tanisha	IPS/2020-02-B/0008	10000/=	
Ishara	IPS/2019-02-A/0005	5000/=	

Others				
Hasitha Sahas	-	2500/=		
Mr.Kalum	-	10000/=		
Mr.Nandana Herath	-	20000/=		
R.M.Y.M.Gunarathna	-	1500/=		
Mr.Prakash	-	2000/=		
Pasan sadeepa	-	2000/=		
TOTAL		165000/=		

# **Spent Budget**

Items	Unit price	Quantity	Total
	Gi	ft Items	
Pencil case	Rs.120	48 pcs	5760/=
Scrunchie	Rs .30	48 pcs	1440/=
Gift bag	Rs.35	56 pcs	1960/=
Hair oil	Rs.135	48 pcs	6480/=
Hair clips	Rs.120	16 cards	1920/=
Bool bands	Rs.360	4 pkts	1440/=
School bag	Rs.1000	38 pcs	38000/=
Side bags	Rs.725	10 pcs	7250/=
Souvenir	Rs. 745	2 pcs	1490/=
Chocolate	Rs. 37.5	105 pcs	3937/=
	Food	d Hamper	
White sugar	Rs.365	10kg	3650/=
Red dhal	Rs.580	10kg	5800/=
Mackerel fish tin (425g)	Rs.800	10 pcs	8000/=
Samaposha (500g)	Rs.375	4 pkts	1500/=
Soya meat (90g)	Rs.125	25 pkts	3125/=
Nestomalt (400g)	Rs.840	5 pkts	4200/=
Milk powder (400g)	Rs.1020	5 pkts	5100/=
Curry powder	Rs.1100	1kg	1100/=
Biscuits			
Tikiri Marie (360g)	Rs.301.30	12 pkts	3615.65/=
• Nice (400g)	Rs. 404.53	8 pkts	3236.25/=
Chilli powder	Rs.1100	1kg	1700/=
Turmeric powder	Rs.475	250g	475/=
Tea leaves (400g)	Rs. 719	5 pkts	3595/=
	Other	Essentials	
Asamodagam spirit	Rs.190	3 bottles	570/=
Panadol box	Rs.599	2	1198/=
Soap			·
<ul><li>Sunlight</li></ul>	Rs. 157	10 pcs	1570/=
<ul><li>Pears baby</li></ul>	Rs. 150.10	20 pcs	3002/=
Washing powder (2kg)	Rs. 900.66	3 pkts	2702/=
Shampoo (180ml)	Rs. 527	10 bottles	5270/=
Toothpaste (120g)	Rs. 214.25	20 pcs	4285/=
A4 bundles	Rs. 1800	5	9000/=
		eshment	·
Cake	Rs. 1700	3kg	5100/=

Sandwiches	-	-	4700/=		
Cutlet	-	-	1500/=		
Highland milk packets	Rs. 65	80 pkts	5200/=		
Cardboard boxes	Rs. 20	60	1200/=		
Other Expenses					
Balloons	Rs. 4.8	50 pcs	240/=		
Transport			390/=		
Music			2000/=		
Anniversary cake			2300/=		
Total			165,000/=		

**P.S:** We express our heartfelt and sincere gratitude to the following sponsors:

- Dr. Dilshan Kariyawasam Pathirana donated 38 pairs of school shoes and 10 pairs of lady's sandals.
- Mr. Fahad contributed 10 kg of Rice noodles.
- Mr. Sajahan Pasie contributed Chili, Curry and Black curry powders of 1 kg each and Chilli flakes 750g.
- Miss. Nathasha Dnanjani donated first-aid related items and medicines.

## The gift pack constituted of,

- Hair oil 1
- Pencil case 1
- Scrunchie 1
- Hair clips 4 (2 pairs)
- Bool bands 6
- Gift bag 1
- School bags/ side bags 1
- Shoes/sandals 1 pair









## **Photographs**











### Special thanks and acknowledgements

- Mrs. Peshala Abesundara, Commissioner, Department of probation and child care services, Western province.
- Senior prof. Menik Hettihewa, Dean, Faculty of Health Sciences, Cinec campus.
- Mrs. Rupika Senadheera, Senior lecturer, University of Sri Jayawaradhanapura.
- Mr. Hemantha Adhikari, Manager, Viharamahadewi Children development centre, Biyagama.
- Mrs. Manjula Ranathunga, Chief Warden, Viharamahadewi Children development centre, Biyagama.
- Mrs. Vishwa De Silva, Chief Academic Officer, Dep. of Pharmaceutical sciences, Cinec campus.
- Mr. Ravindu Illesinghe, Lecturer, Faculty of Health Sciences, Cinec campus.
- All senior lecturers and lecturers of the faculty of health sciences, Cinec campus.
- All generous donors.
- All colleagues from other batches within the faculty.
- All parents and students of our batch.